
MATHS

BOOKS - NCERT MATHS (HINGLISH)

BINOMIAL THEOREM

Shrot Answer Type Question

1. Find the term independent of , where

, in the expansion of .

Watch Video Solution

x

x ≠ 0 ( − )
15

3x2

2

1

3x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mC16g3fdqEtp


2. If the term free from 
 in the expansion of


is 
, find the value of 

Watch Video Solution

x

(√x − )
10

k

x2
405 k.

3. Find the coefficient of  in the expansion of

.

Watch Video Solution

x

(1 − 3x + 7x2)(1 − x)
16

https://dl.doubtnut.com/l/_mC16g3fdqEtp
https://dl.doubtnut.com/l/_zK1rnHXSSKi1
https://dl.doubtnut.com/l/_GPh9vfxC1l6V
https://dl.doubtnut.com/l/_3ZpDirVVhSVh


4. Find the term independent of  in the

expansion of .

Watch Video Solution

x

(3x − )
152

x2

5. Find the middle term (terms) in the

expansion of 

(i)  (ii) 

Watch Video Solution

( − )
10x

a

a

x
(3x − )

9
x3

6

https://dl.doubtnut.com/l/_3ZpDirVVhSVh
https://dl.doubtnut.com/l/_HcwrU8BWMnRR


6. Find the coefficient of  in the expansion

of 

Watch Video Solution

x15

(x − x2)
10

7. The coefficient of  in the expansion of 

 is

Watch Video Solution

x− 17

(x4 − )
15

1

x3

https://dl.doubtnut.com/l/_wl4VZ6GY547n
https://dl.doubtnut.com/l/_GKRwiwQWt3Uk


8. Find the sixth term in the expansion


, if the binomial coefficient of the

third term of the end is 

Watch Video Solution

(y + x )
n1

2
1
3

45.

9. (2) If the coefficients of (2r + 4)th, (r - 2)th

terms in the expansion of  are equal,

find r.

Watch Video Solution

(1 + x)18

https://dl.doubtnut.com/l/_b2MdRC2r2N0T
https://dl.doubtnut.com/l/_SJfVmVjBRkZn
https://dl.doubtnut.com/l/_ZUPYH9bpZTdM


Long Answer Type Question

10. If the coefficient of 2nd, 3rd and 4th
terms

in the expansion of 
are in A.P. , show

that 

Watch Video Solution

(1 + x)2n

2n2 − 9n + 7 = 0.

11. Find the coefficient of 
 in the expansion

of 

Watch Video Solution

x4

(1 + x + x2 + x3)
11

.

https://dl.doubtnut.com/l/_ZUPYH9bpZTdM
https://dl.doubtnut.com/l/_UpF0LjSXch1O


1. If p is a real number and the middle term in

the expansion of  is 1120, then find

the value of p.

Watch Video Solution

( + 2)
8p

2

2. Show that the middle term in the expansion


 
.

Watch Video Solution

(x − )
2n

is
1

x
( − 2)n

1. 3. 5(2n − 1)

n

https://dl.doubtnut.com/l/_gYilazIHptN9
https://dl.doubtnut.com/l/_ZGHZVJi9fkHS


3. If the seventh term from the beginning and

end in the binomial
 expansion of


are equal, find 

Watch Video Solution

(23 + )
n

,
1

33
n.

4. If 
be the sum of odd terms and 
that of

even terms in the expansion of 
prove

that:
 
 (ii) 


 (iii) 

o E

(x + a)n

O2 − E2 = (x2 − a2)
n

4OE = (x + a)2n − (x − a)2n

2(O2 + E2) = (x + a)2n + (x − a)2n

https://dl.doubtnut.com/l/_VVyIG2qJpvNv
https://dl.doubtnut.com/l/_y217aesvjEy9


Watch Video Solution

5. If 
 occurs in the expansion of 


 , prove that its coefficient is


.

Watch Video Solution

xp

(x2 + 1/x)
2n

(2n) !

[ (4n − p)] ![ (2n + p)] !1
3

1
3

6. Find the term independent of 
 in the

expansion of

x

(1 + x + 2x3)[(3x2 /2) − (1/3)]
9

https://dl.doubtnut.com/l/_y217aesvjEy9
https://dl.doubtnut.com/l/_myt7wFpW0nzZ
https://dl.doubtnut.com/l/_jFQOFhCxc9ln


Objective Type Question

Watch Video Solution

1. The number of terms in the expansion of

 after simplification

A. 

B. 

C. 

D. None of these

(x + a)100 + (x − a)100

50

202

51

https://dl.doubtnut.com/l/_jFQOFhCxc9ln
https://dl.doubtnut.com/l/_6LNdoJPrbtmy


Answer: C

Watch Video Solution

2. Given positive integers 

being even and the coefficient of  term

and  term in the expansion of 

 are equal; find r

A. 

B. 

C. 

r > 1, n > 2, n

(3r)th

(r + 2)th

(1 + x)2n

r =
n

2

n = 3r

n = 2r + 1

https://dl.doubtnut.com/l/_6LNdoJPrbtmy
https://dl.doubtnut.com/l/_DPU8Y3w6llhP


D. None of these

Answer: A

Watch Video Solution

3. The two successive terms in the expansion

of  whose coefficients are in the ratio

1:4 are

A. 3rd and 4th

B. 4th and 5th

(1 + x)24

https://dl.doubtnut.com/l/_DPU8Y3w6llhP
https://dl.doubtnut.com/l/_sshoPl9IBRv2


C. 5th and 6th

D. 6th and 7th

Answer: C

Watch Video Solution

4. Prove that the coefficient of  in the

expansion of  is twice the coefficient

of  in the expansion of 

A. 

xn

(1 + x)2n

xn (1 + x)2n− 1

1: 2

https://dl.doubtnut.com/l/_sshoPl9IBRv2
https://dl.doubtnut.com/l/_VTWOQ3lKDgQZ


B. 

C. 

D. 

Answer:

Watch Video Solution

1: 3

3: 1

2: 1

5. If the coefficients of 2nd, 3rd and 4th terms

in the expansion of  are in A.P., then

find the value of n.

(1 + x)n

https://dl.doubtnut.com/l/_VTWOQ3lKDgQZ
https://dl.doubtnut.com/l/_DfCNgv9la5fP


A. 2

B. 7

C. 11

D. 14

Answer: B

Watch Video Solution

6. If A and B are the coefficients of  in the

expansion  and 

respectively, then

xn

(1 + x)2n (1 + x)2n− 1

https://dl.doubtnut.com/l/_DfCNgv9la5fP
https://dl.doubtnut.com/l/_MMmuJAASiAxN


A. 1

B. 2

C. 

D. 

Answer: B

Watch Video Solution

1

2

1

n

7. If the middle term in the binomial expansion

of 
 is equal to 
 find the( + xsinx10)
1

x
,

63

8

https://dl.doubtnut.com/l/_MMmuJAASiAxN
https://dl.doubtnut.com/l/_YzzjAAuyrOTc


value of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x.

2nπ +
π

6

nπ +
π

6

nπ + ( − 1)n
π

6

nπ + ( − 1)n
π

3

https://dl.doubtnut.com/l/_YzzjAAuyrOTc


8. The largest coefficient in the expansion of

 is.......

Watch Video Solution

(1 + x)30

9. The number of terms in the expansion of

Watch Video Solution

(a + b + c)n, wheren ∈ N.

https://dl.doubtnut.com/l/_5JaUA0ZPdX7O
https://dl.doubtnut.com/l/_R27ilEcCCyHs


10. In the expansion of , the

value of constant term is......

Watch Video Solution

(x2 − )
16

1

x2

11. If the seventh term from the beginning and

end in the binomial
 expansion of


are equal, find 

Watch Video Solution

(23 + )
n

,
1

33
n.

https://dl.doubtnut.com/l/_L3A49zIAfnN0
https://dl.doubtnut.com/l/_d7mIB3leiET0


12. The coefficient of  in the expansion of

 is......

Watch Video Solution

a− 6b4

( − )
10

1

a

2b

3

13. Middle term in the expansion of

 is ......

Watch Video Solution

(a3 + ba)
28

https://dl.doubtnut.com/l/_wS03SDpq35hz
https://dl.doubtnut.com/l/_LVY9GaMZLF7h


14. If 
 are ositive, then prove that the

coefficients of 
 in the expansion of 


will be equal.

Watch Video Solution

pandq

xpandxq

(1 + x)p+q

15. The position of the term independent of 

in the expansion of  is ......

Watch Video Solution

x

(√ + )
10

x

3

3

2x2

https://dl.doubtnut.com/l/_sQqnsKdQIbjO
https://dl.doubtnut.com/l/_2eznFvcHYNvA


True False

16. If  is divided by 13, then the remainder

is .....

Watch Video Solution

2515

1. The sum of the series

Watch Video Solution

Σ10
r= 0

20Cr  is 219 +
20C10

2

https://dl.doubtnut.com/l/_BkdD1TpHaVRa
https://dl.doubtnut.com/l/_A7WYgUTA9mm2
https://dl.doubtnut.com/l/_1mSIJms5qoXN


2.  is divisible by (A) 16 (B) 24 (C) 64 (D)

72

Watch Video Solution

79 + 97

3. The number of term in the expansion of

 is 8

Watch Video Solution

[(2x + 3y)
4]

7

https://dl.doubtnut.com/l/_1mSIJms5qoXN
https://dl.doubtnut.com/l/_ghMiMFn6pzxz


4. Find the sum of the coefficient
of to middle

terms in the binomial expansion of

Watch Video Solution

(1 + x)2n− 1

5. Write last two digits of the number 

Watch Video Solution

3400.

https://dl.doubtnut.com/l/_S5fLtOcnnjCK
https://dl.doubtnut.com/l/_rf7wQQER0CyJ


6. If the expansion of  contains a

term independent of x, then  is a multiple of

2.

Watch Video Solution

(x − )
2n

1

x2

n

7. The number of term is the expansion of

, where , is one less than the

power 

Watch Video Solution

(a + b)
n

n ∈ N

n

https://dl.doubtnut.com/l/_C8NcakkFYK6w
https://dl.doubtnut.com/l/_otR8wbc4irqE



